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Geography Model Test Questions 9 in English With Answers

Tamil Nadu Agricultural University is located at

(A) Chennai (B) Coimbatore (C) Pollachi
Name the sugar bowl of the world

(A) Cuba (B) Pakistan (C) Taiwan
In which country are diamonds abundantly found?

(A) Canada (B) Russia (C) South Africa
Rice is the main crop of

(A) India (B) Russia (C) China
The largest rubber producing country in the world is

(A) Sri Lanka (B) Malaysia (C) India
Indian cotton textile industries are largely located at

(A) Maharashtra  (B) West Bengal (C) Orissa
Wind mills are locate in Tamil Nadu at

(A) Trichy (B) Salem (C) Chennai

Consider the following statements:

(D) Salem

(D) London

(D) Australia

(D) Japan

(D) Brazil

(D) Karnataka

(D) Kayathar

Assertion (A): Tank irrigation is more common in Peninsular India.

Reason (R):  Because rainfall is highly seasonal in characters.

Now select your answer using the codes given below:

(A) Both (A) and (R) are true, and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

The only state in India having a sex ratio above 1000 is
(A) Tamil Nadu (B) Kerala (C) Karnataka
Pong Dam is on the river

(A) Sutlej (B) Beas (C) Rihand

Srinagar is situated on the banks of

Learning Leads To Ruling

(D) Nagaland

(D) Jhelum
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(A) Ravi (B) Beas (C) Sutlej (D) Jhelum
Which of the following states in India has two capitals?

(A) Haryana (B) Jammu and Kashmir

(C) Himachal Pradesh (D) Uttar Pradesh

Match list I correctly with list 11 and select your answer using the codes given below:

List | List 11

a) Largest size state in India 1) Madhya Pradesh
b) Densely populated state 2) Bihar
c) Richest mineral state 3 Kerala
d) Advanced agricultural state 4) Punjab
Codes:

a b C d
A 1 2 3 4
(B) 1 3 2 4
() 1 4 2 3
(D) 3 1 4 2
Indian railways is divided into Zones.
(A) 8 (B) 9 (C) 12 (D) 15

In ‘Telugu Ganga Project’ the water to Chennai will be supplied from
(A) Godaveri (B) Krishna (C) Mahanadi (D) Cauvery

Pick out the wrong pair.

(A) Kaziranga National Park - Assam

(B) kanha National Park - Madhya Pradesh
(C) Mudumalai sanctuary - Andhra Pradesh
(D) Gir forest - Gujarat

Which one of the following sanctuaries is correctly matched?
(A) Manas - Elephants

(B) Gir - Lion

(C) Ranthambhor - Deers
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(D) Kanha - Birds

Sardar Sarovar projects is associated with which of the following rivers?

(A) Narmada (B) Mahanadi (C) Tapti (D) Betwa
Occurrence of mica is associated with

(A) Panna (B) Kolar (C) Koderma (D) Khetri
Which of the following areas of India is more prone to earthquakes?

(A) Malwa plateau  (B) Aravallis (C) Deccan plateau (D) Himalayan range
Dhala Dhar, Pripanjal and Nag Tiba ranges are included in the

(A) Siwalik Range (B) Lesser Himalayas

(C) Greater Himalayas (D) Vindhya Range

Amritsar and Simla have the same latitude yet Simla is cooler than Amritsar, because
(A) Lies north of Amritsar (B) Comes under the influence of cold winds
(C) At a higher elevation (D) Receives a lot of snow

The river often referred as Vridha Ganga, or Dakshina Ganga is

(A) Cauvery (B) Godavari (C) Krishna (D) Mahanadi
Silent valley is in the state of

(A) Kerala (B) Karnataka (C) Jammu and Kashmir (D) Andhra Pradesh
Which one of the following is not correctly matched?

(A) Kakrapara - Gujarat

(B) Farakka project - West Bengal

(C) Hirakud - Andhra Pradesh

(D) Mettur - Tamil Nadu

is the Manchester of South India

(A) Mumbai (B) Coimbatore (C) Mysore (D) Thiruvananthapuram
India’s largest Naval Base is located at

(A) Cochin  ( B) Mumbai (C) Karwar (D) Chennai

The central food technological research institute is in

(A) Bangalore (B) Delhi (C) Chennai (D) Mysore
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Which state receives more rainfall during winter?

(A) Orissa (B) West Bengal (C) Madhya Pradesh (D) Tamil Nadu
Where are tea and coffee both grown?

(A) North — Western India (B) North — Eastern India

(C) Central India (D) Southern India

In state wise analysis of population of India, Tamil Nadu is at

(A) 5" place (B) 4™ place (C) 7" place (D) 9" place

Which state in India has the largest geographical area?

(A) Madhya Pradesh (B) Bihar (C) Andhra Pradesh (D) Uttar Pradesh
NOTE: Now Rajasthan

The time difference between Chennai and London is 5%2 hours. A man starts from Chennai by
5.30 a.m. and reaches London in 5% hours. Then, the time at London will be

(A)5.30 a.m. (B) 8.00 a.m. (C) 11.00 a.m. (D) 1.30 a.m.
Frequent landslide in Ooty is due to

(A) Cultivation of tea (B) Frequent rainfall

(C) Cultivation of pinus tree (D) Destruction of forest

The coal obtained in Neyveli is

(A) Lignite (B) Peat (C) Bituminous (D) Anthracite

The longitudinal extent of India is

(A) 65°Et0 93°E  (B) 66°Eto 96°E  (C) 68°E t0 97°2°E (D) 68°E to 97°30° E

Which one of the following is correctly matched?

(A) Bihar - Patna
(B) Manipur - Jaipur
(C) Sikkim - Agartala
(D) Rajasthan - Imphal

Highest literacy rate, as per 1991 census, is found in the state of
(A) West Bengal (B) Kerala  (C) Tamil Nadu (D) Gujarat

Consider the following statements:
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I. West Bengal ranks first in density of population (1991) in India

I1. Kerala ranks seconds in density of population (1991) in India
Of these:

I 1
(A) True True
(B) True False
(C) False True
(D) False False
Which one of the following is not correctly matched?
(A) Cochin port - Kerala
(B) Mumbai port - Maharashtra
(C) Paradip port - West Bengal
(D) Chennai port - Tamil Nadu
Indira Gandhi International Airport is located at
(A) Mumbai (B) Chennai (C) Bangalore
‘Visveswarayya iron and steel plant’ is located in the state of
(A) Bihar (B) Orissa (C) Karnataka
Paper mill in Tamil Nadu is located at
(A) Kayatharu (B) Pugalur (C) Vellore
Jharia coal field is located in the state of
(A) Uttar Pradesh (B) Madhya Pradesh (C) Andhra Pradesh
NOTE: Now Jharkhand
Petroleum is largely available in these states of India
(A) Bihar and Orissa (B) Rajasthan and Haryana
(C) Assam and Gujarat (D) Kerala and Karnataka

Consider the following statements:

I. Ramagundam thermal power station is located in Andhra Pradesh

I1. Neyveli thermal power station is located in Tamil Nadu
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(D) New Delhi

(D) West Bengal

(D) Karur

(D) Bihar
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Of these:
I 1
(A) True True
(B) True False
(C) False True
(D) False False
The important crops cultivated in the plantation agriculture are
(A) Rice and Wheat (B) Cotton and Sugarcane
(C) Tea and Coffee (D) Millet and Jowar
Which one of the following is not correctly matched?
(A) Fibre crop - Jute
(B) Cash crop - Cotton
(C) Plantation crop - Rubber
(D) Food crop - Sugarcane
Which type of soil occupies large area in India?
(A) Black soil (B) Alluvial soil (C) Red soil (D) None of these
Climate of India is highly influenced by
(A) Planetary winds (B) Cyclonic winds (C) Monsoon winds (D) Trade winds
Bolan pass is located in
(A) Malwa plateau (B) Aravalli mountain
(C) Himalayan range (D) Shillong plateau
Himalayas are made up of
(A) Igneous rocks (B) Volvanic rocks
(C) Sedimentary rocks (D) Metamorphic rocks
Range of temperature is high in
(A) Chennai (B) Mumbai (C) Thiruvananthapuram (D) Delhi
Safety match industry in Tamil Nadu is located in the district of

(A) Virudhunagar (B) Erode (C) Dindigul (D) None of these
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Coimbatore in Tamil Nadu is famous for

(A) Leather industry (B) Textile industry

(C) Safety match industry (D) All of these

Which country is the largest producer of sugarcane in the world?

(A) Pakistan (B) China (C) India (D) Russia

Which are cash crops?

(A) Cotton, Sugarcane, Oilseeds (B) Maize, Ragi, Millets

(C) Groundnut, Castor seeds (D) Rice, Wheat, Dals

In which year newsprint industry started in Pugalur?

(A) 1986 (B) 1988 (C) 1989 (D) 1990
Panangudi is famous for

(A) Paper industry (B) Fertilizer industry

(C) Petroleum refinery (D) Chemical industry

The place where the coordinate factory is situated in India is

(A) Aravankadu (B) Bangalore (C) Bhopal (D) Delhi
The traditional site for pearl fishing in India is

(A) Andamans (B) Gulf of mannar  (C) Tuticorin (D) Vishakhapatna
Mc Mohan line is the border between

(A) India and China (B) India & Bangaladesh

(C) India and Nepal (D) India and Pakistan

Which is the apple state of India?

(A) Maharashtra (B) Orissa (C) Himachal Pradesh (D) Karnataka
Which is the capital of Chattisgarh?

(A) Jammu (B) Dehradun (C) Bhopal (D) Raipur
Ranchi is the capital of

(A) Jharkhand (B) Chattisgarh (C) Uttaranchal (D) None of these
Dehradun is the capital of

(A) Uttarachal (B) Jarkhand (C) Chattisgarh (D) Bihar
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Tamil Nadu gets maxium amount of rainfall during the months of

(A) January and February (B) March and April

(C) October and November (D) December and January

Which one of the following is correctly matched?

(A) Vidarbha — Maharashtra (B) Rayalaseema — Karnataka

(C) Kathiawar — Orissa (D) Jharkhand — Madhya Pradesh

Find the correct sequence of the states from north to south along the western coast of India.
(A) Kerala, Karnataka, Goa, Maharashtra

(B) Maharashtra, Kerala, Karnataka, Goa

(C) Maharashtra, Goa, Karnataka, Kerala

(D) Kerala, Goa, Karnataka, Maharashtra

Koyali is associated with which of the following

(A) Power plant (B) Newsprint

(C) Petroleum refinery (D) Fertilizer plant

Which one of the following cities is not connected by rail?

(A) Guwahati (B) Srinagar (C) Agartala (D) Shillong
The decadal population growth rate during 1991 — 2001 in Tamil Nadu was
(A) 9.42 (B) 11.19 (C) 15.39 (D) 24.20
Consider the following statements:

I. Simla is the capital city of Himachal Pradesh state

I1. Kohima is the capital city of Sikkim state

I11. Shillong is the capital city of Assam state

IV. Imphal is the capital city of Manipur state

Of the statements:

(A) I and 11 are correct (B) I, I and 111 are correct

(C) Il and 111 are correct (D) I and IV are correct

The Indian island that lies between India and Srilanka is

(A) Elephanta (B) Nicobar (C) Rameswaram (D) Salsette
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Which is the capital of Punjab?

(A) Lucknow (B) Dispur  (C) Jaipur (D) Chandigarh

Bhopal is the capital of the state of

(A) Maharashtra (B) Manpur  (C) Kerala (D) Madhya Pradesh

The silent valley project is associated with

(A) Bihar (B) West Bengal (C) Tamil Nadu (D) Kerala
Non-renewable source of energy is

(A) Coal (B) petroleum (C) both of these (D) None of these
The rate of literacy in Tamil Nadu according to 1991 census is

(A) 55.3 % (B) 62.7 % (C) 70.5 % (D) 76.0 %
Major producer of sugar in the world is

(A) Australia (B) Cuba (C) India (D) Mauritius
Raniganj coal mine is situated in

(A) Bihar (B) Madhya Pradesh (C) West Bengal (D) Maharashtra
Soil erosion occurs due to

(A) Vailling Storm (B) Fog

(C) Absence of forests (D) Drought

What is the name of the dam constructed across Sutlej?

(A) Bhakra-Nangal (B) Hirakud (C) Damodhar (D) None of these
Where is India’s National Mango Garden?

(A) Chandigarh (B) Benaras (C) Trich (D) Kolkata
Where is DDT factory in India?

(A) New Delhi (B) Ooty (C) Bhopal (D) Bangalore

Indian Standard Time is ahead of Greenwich Mean Time by

(A) 2 Y2 Hours (B) 3 %2 Hours (C) 5% Hours (D) 7 %2 Hours
India’s satellite launching centre is located at

(A) Sri Harikota (B) Chennai (C) Bangalore (D) Mysore

Iron and steel industries are highly concentrated in these states in India
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(A) Bihar and Orissa (B) Uttar Pradesh and Bihar

(C) Orissa and Rajasthan (D) Bihar Na Gujarat
According to 2001 census the literacy rate of India is

(A) 52.10 % (B) 65.38 % (C) 45.34 %
Nasik town is situated on the bank of the river

(A) Krishna (B) Godavari (C) Cauvery
Which port is located in the Orissa coast?

(A) Cochin (B) Paradwip (C) Kandla
Subhash Candra Bose Airport is locate at

(A) Kolkata (B) Mumbai (C) Delhi
Capital city of Manipur state is

(A) Agartala (B) Imphal (C) Shimla
Nagarjuna sagar dam is constructed across the river

(A) Godavari (B) Narmada (C) Tapti
Crops cultivated during the Rabi season are

(A) Wheat and Barley (B) Rice and Jute
(C) Bajra and Jowar (D) Cotton and Ragi

The largest petroleum exporting country is

(A) Russia (B) Saudi Arabia (C) USA

The densest district of Tamil Nadu according to 2001 census is

(D) 77.45 %

(D) Tapti

(D) Mangalore

(D) Chennal

(D) Gangtok

(D) Krishna

(D) France

(A) Chennai (B) Coimbatore (C) Tiruchchirappalli (D) Madurai

Find the correct sequence of the four states arranged in descending order in terms of density of

population (1991)

(A) West Bengal, Kerala, Bihar, Uttar Pradesh
(B) Kerala, Bihar, West Bengal, Uttar Pradesh
(C) West Bengal, Bihar, Kerala, Uttar Pradesh
(D) Kerala, West Bengal, Bihar, Uttar Pradesh

Mathc list | with list Il correctly and select your answer using the codes given below:
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List |

(a) Paper Industry
(b) Sugar Industry
(c) Cement Industry

(d) Automobile Industry

Codes:

a b
(A) 1 2
(B) 3 4
C) 2 3
(D) 4 1

4
2

N b O

1
3

List I

1. Ariyalur
2. Chennai
3. Pugalur
4. Pennadam

100.  Which port is located in the Malabar coast?

(A) Kandla
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(B) Mumbai

(C) Cochin
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(D) Paradwip
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